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(Picture Description)

(Question or Statement Response) (Short Conversation)
1
(test specifications) 1)
2)
( )

(Communicative
Approach) (listening
comprehension process)

1980 (
Bachman, 1990 Chapelle et al., 1997 Weir, 1990)
(sociolinguistic competence) (discourse competence)
(strategic competence) 2
Weir (1993)

(a) Direct meaning comprehension:
--Listening for gist, main ideas or important information
--Listening for specifics; involving recall of important details
--Determining speaker’s attitude/intentions toward listener/topic (persuasion/
explanation) where obvious from the text

(b) Inferred meaning comprehension:
--Making inferences and deductions
--Relating utterances to the social and situational context in which they are made
--Recognizing the communicative function of utterances
--Deducing meaning of unfamiliar lexical items from context

gk wpdnE

Canale & Swain (1980) Canale(1983) Bachman
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(©

(1993)

2)

Contributory meaning comprehension (microlinguistic):

--Understanding phonological features (stress, intonation, etc.)

--Understanding concepts (grammatical notions) such as comparison, cause,
result, degree, purpose

--Understanding discourse markers

--Understanding syntactic structure of the sentence and clause

--Understanding grammatical cohesion, particularly reference

--Understanding lexis and lexical cohesion

(direct meaning comprehension)

(global main ideas) (local important details)
(inferred meaning comprehension)
(social and situational context) (communicative function)
Weir (1993)

(continuing/extended discourse)

(contributory meaning comprehension)
microlinguistic skills bottom-up processing Weir

Buck (1991), Tsui & Fullilove (1998), Wu (1998)

(linguistic cues)

(global) (local)

L-3



2.
a. 45 4 1
30
15
15
a.
b.
15
C.
d.
b.
/
C. 6-15
(Pimsleur et al., 1977)° 140 (140 wpm)
6
4
5 Pimsleur, et al. (1977) Fast: above 220 wpm Moderately fast: 190-220 wpm
Average: 160-190 wpm  Moderately slow: 130-160 wpm  Slow: below 130 wpm  wpm  words per minute
6 Hale & Courtney(1991) TOEFL (mini-talks)
100-120 wpm (note taking) TOEFL



15 1 3
A B C D

() ()
Look at picture #1. What are the
people wearing?

A. Tom is wearing a T-shirt.
B. Julie is wearing pants.
C. They are wearing glasses.
D Jane is wearing a hat.
=A
15 A B C
D o )20
9
Where is your brother now?
A. He’s 20 years old.
B. He’sadoctor.
C. He’sthirsty.
D. He’sin New York. =D
15 A B
co 0 9
() (Man) How do you go to school every day?
(Woman) Usually on foot. Sometimes by bus.

(Question)  How does the woman go to school?

() A. Shealways walks to school.
B. She usually takes a bus.
C. She either walks or takes a bus.

145 wpm



D. She usually goes on foot, never by bus.
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45 15 ) (30 )
)
A B 3.057
3.271
A
A
304
(15 ) (30 ) (45 )
8.546 19.477 28.023 (62.2 )*
0.570 0.649 0.623
2.692 5.724 7.898
15 30 45 (100 )
3 7 11 (244 )
8 19 27
2.2 100
B
B
282
(15 ) (30 ) (45 )
8.323 16.420 24752 (55 )
0.555 0.548 0.550
2.479 4.670 6.621
15 29 44 (96.8 )
3 5 8(176 )
8 16 24
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80 (
100 ) A 23% 36 (80%) B 8%
80 A
(prototype)
)
A B
% %
45 1 1 0
44 0 1 0 1 1 0
43 5 6 2 0 1 0
42 6 12 4 0 1 0
41 9 21 7 1 2 1
40 5 26 9 1 3 1
39 8 34 11 2 5 2
38 13 47 15 3 8 3
37 10 57 19 5 13 5
36 (p=80%) 12 69 23 10 23 8
35 11 80 26 7 30 11
34 9 89 29 5 35 12
33 8 97 32 2 37 13
32 12 109 36 8 45 16
31 4 113 37 16 61 22
30 11 124 41 10 71 25
29 12 136 45 10 81 29
28 8 144 47 7 88 31
27 (p=60%) 15 159 52 16 104 37
26 12 171 56 12 116 41
25 19 190 63 20 136 48
24 13 203 67 13 149 53
23 19 222 73 16 165 59
22 16 238 78 15 180 64
21 11 249 82 25 205 73
20 10 259 85 13 218 77
19 13 272 89 18 236 84
18 7 279 92 16 252 89
17 6 285 94 8 260 92
16 6 291 96 4 264 94
15 4 295 97 3 267 95
14 1 296 97 4 271 96
13 3 299 98 5 276 98
12 2 301 99 3 279 99
11 3 304 100 1 280 99
10 0 280 99
9 1 281 100
8 1 282 100
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30

25
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A B (
0.60 ~ 0.70
A 0556 B
A B
( 0.690 0.621
( ) 0.623 0.538
( 0.556 0.491
0.623 0.550
A
>0.90 1 0 1 2
0.76 ~0.90 4 2 3 9
0.60 ~0.75 6 7 2 15
0.46 ~0.59 4 4 3 11
0.25 ~0.45 0 2 5 7
<0.25 0 0 1 1
B
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> 0.90 1 0 0 1
0.76 ~0.90 4 3 2 9
0.60 ~0.75 3 2 2 7
0.46 ~0.59 4 4 4 12
0.25 ~0.45 3 5 6 14
<0.25 0 1 1 2
A B 3 ( >0.90  <0.25)
0.25 ~ 0.90 A B
( 0.76~0.90) A B
A ( 15 11 ) B
12 ) 14 ) A
B A 26 57.7%
27 60%
3. (Reliability)
45 KR20 0.874 0.85 B
0.80 ( )
)
A B
) 0.665 0.543
) 0.724 0.593
) 0.715 0.608
0.874 0.800
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L-12

A B « ) (
) A 0.724 B 0572 A
B 0.05
A
A ( ) ()
( ) 0.627
( ) 0.687 0.724
B
B ( ) C )
( ) 0.547
( ) 0.518 0.572
A B
0.3~0.7
(A )
A/B
A B
A 0.693 (N=304) - 0.881 (N=262) | 0.691 (N=281)
B - 0.652 (N=282) - -
570
13
51% 36%

75%




17%

8%

(moderately slow)

140wpm

L-13

55% 30%
69% 23% 36~40
44%
(71%)
( )
( ) 43% (
(36%) « )
) « ) ( ) 44%
~40% 77% 23%
58%
32% 85%
72%
25% 75%
25%
44%
A B
( ) 150wpm Pimsleur et al. (1977)

64%

(35%)

30%



A
Weir (1993) Buck & Tatsuoka
(1998) Chiang & Dunkel (1992) Freedle & Kostin (1996, 1999) Nissan et al.(1996)
, p
( )
(Item Response Theory) a ( ) b
( ) ¢ ( )
1 ( )
8
A (

25%~45%)

(curly/straight hair pants )

50%
13 14
Question 13
Mr. Lee's Schedule Tomorrow
Question number 13: What’s on Mr. Lee’s schedule tomorrow?
A.  He’ll make a phone call before going to the meeting. 32% 97% 69%
B.  He’ll work on his report before going to the meeting. 27% 1% 15%
C.  He’ll make a phone call after he finishes the report. 15% 1% 5%
D. He’ll go to the meeting after he finishes the report. 27% 1% 11%
=A a =093 b =-041 c =0.23 =0.69 =0.65
Question 14
! 27% 27%
8 A B 39% 5.7%
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Question number 14: What'’s the traffic situation on the highway?

A. Acar was hit by a tour bus, so traffic is moving very slowly.| 16% 1% 8%

B. The highway is closed for road construction. 21% 3% 12%

C. Traffic is moving quite smoothly at this time of the day. 16% 0 8%

D. There’s been an accident. A car has just hit another car. 48% 96% 73%

=D a =070 b =-059 ¢ =024 =0.73 \ =0.48
13 before  after 14
( 69% 73%)
0.65 0.48) 90%
2 « )
A 11
2
1) wh- yes-no
24 26 70% wh-
yes-no wh-
25 30

25. Frankly speaking, | don’t think Mary’s idea will work.
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A.  Her job starts tomorrow. 22% 1% 9%
B. I like her idea, too. 24% 1% 11%
C. Sheisill today. 23% 13% 19%
D. Neitherdo I. 29% 83% 61%
=D a =068 b =016 c¢ =024 =0.61 =0.54
30. Oh, my goodness! 1 just can’t remember where | put my passport.
A. Sorry, | don’t have a passport. 38% 1% 16%
B. You got 70 points, remember? 7% 1% 6%
C. Didn’tyou put it in your pocket? 32% 98% 66%
D. Sure, I’ll pass you the fork. 23% 0 12%
=C a =08 b =-018 c =0.24 =0.66 =0.66
60%
83%
98% (29% 32%)
“frankly speaking” ”my goodness”
2) 26 “Excuse me,
is there a laundromat in this neighborhood?” “laundromat”
laundromat
“neighborhood” C “Yes, they are my neighbors.” S57%
47%
16
“How’s everything going?” 83%
20% (70%)
“going” C “They’re going home.”
25 30
3)
Anderson (1990)
28 cC D
23 A

28. Do you plan to major in English in college?

L-16



Yes, I'll give him a tour of the school.
No, I want to be a history major.

No, | went to college in the U.S.

Yes, most of my friends went to college.

OoOow>»

=B a =094 b =027 c =024

23. When does the museum close on weekdays?

It’s close to the subway station.
There’s a bus stop near here.
Usually at 5, except for Monday.
It’s open every day.

Oow»

=C a =064 b =032 c =025

1)

31 32
70% 90%

“speeding” “helmet” “officer” )

32. M:  Can | see your license, please?

L-17

4% 0 2%
39% 78% 56%
32% 13% 23%
23% 8% 17%

=0.56 =0.39
27% 10% 21%

21% 3% 10%
39% 83% 59%
12% 3% 10%

=0.58 =0.44
(lexical overlap)
( )
b)
d)
( a
33
48% 32

b)

(“see your license”



W: | wasn’t speeding, was 1?
M: No. Butyou’re not wearing a helmet.
W: |dohave ahelmet. Look, here itis.
M:  Then, you should put it on your head, not in the bag.
W:  But | just got my hair done. Please, don’t give me a ticket, officer.
M:  Sorry.
Q:  Whois the man?
A.  Anpoliceman. 66% 91% 76%
B.  Ahair stylist. 19% 4% 13%
C. Ateacher. 6% 1% 4%
D. Aticket agent. 9% 4% 7%
=A a =060 b =-091 c¢ =025 =0.76 \ =0.25
34 ( )
36% (0.11) “salesclerks” ““resume”
( d)
Nissan et al.(1996) TOEFL
Nissan et al.(1996)
40
40. M: Don’t forget our presentation is tomorrow morning.
W: At 10, right?
M: Yes. Butwe have to be there at least half an hour early to distribute the
handouts and set up the projector.
W: | shouldn’t have any problem. | seldom sleep past 7 a.m., unlike some
people who sleep “til noon.
M: Do you mean me?
W: There’re only two of us here, right?
Q:  What does the woman mean?
A.  The man has problems getting up early. 34% 71% 51%
B.  The man is mean to her. 11% 6% 9%
C.  She hopes nobody can overhear them. 22% 9% 17%
D.  She wishes more people could go. 30% 14% 22%
=A a =068 b =071 ¢ =0.25 =0.51 \ =0.37
51% “...unlike some people
who sleep ‘til noon.”  “There’re only two of us here, right?”
34% 71%

(intonation)
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B 37
37. W What do you think of this blouse?

M: It looks alright to me.

W: Do you think it’ll go well with this skirt?

M:  Abrown striped blouse and a pink polka dot skirt?! (shows disapproval)

Q: What does the man think of the woman’s idea?

A. It’sterrible. 22% 68% 37%
B. It’s perfect. 31% 14% 23%
C It’s so-so. 25% 16% 24%
D. It’s none of his business. 21% 2% 15%

=A a =068 b =13 ¢ =022 =0.37 \ =0.46

“A brown striped blouse and a pink polka dot skirt?!”

disapproval 37%
68%
2) ( )
Freedle & Kostin (1996, 1999)
(Freedle & Kostin complementary information)
A 37
37. W OK, now. Who’s supposed to do the dishes...Jack?

M: Don’t look at me. It’s Nancy’s turn.

Q: What does Jack mean?

A.  The dishes look clean to him. 5% 1% 3%
B.  Nancy broke the dish. 37% 13% 31%
C.  Nancy should wash the dishes. 32% 85% 53%
D. Hedoesn’t know where to put the dishes. 26% 0 13%

=C a =080 b =057 ¢ =024 =0.52 ‘ =0.54

52% “It’s Nancy’s turn.”
(to do the dishes) “Who’s supposed to do the
dishes...Jack?” complementary information
32%
85%

Buck & Tatsuoka (1998)

( c) ( d)
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43

43. M: Getthis! Paul is taking a course on writing fiction. 1 guess he has dreams

of becoming a great novelist.
W:  Well, he’s always had a pretty vivid imagination. Remember the stories he used

to tell us about his childhood?
M: Yeah! Come to think of it, he always has something interesting to say.

Q:  What do the two speakers think about Paul?

A.  His course on writing fiction is very interesting. 32% 38% 39%
B.  His childhood stories aren't very creative. 23% 4% 13%
C. He seems to lack imagination. 29% 8% 21%
D. He has the potential to be a good writer. 16% 49% 27%
=D a =080 b =209 ¢ =021 =0.27 | =0.34
27% ( )
39% “Paul is taking a course on writing fiction.” ”...he
always has something interesting to say.” A “His course on writing

fiction is very interesting.”

3) ( )

Freedle & Kostin (1996, 1999)
Chiang & Dunkel (1992)

33 38

33. W: Can | help you?

M: Yes, I'd like two cheeseburgers, large fries, and coffee.

W: Two cheeseburgers, one large fries and one coffee. Cream and sugar?

M: Just cream, no sugar, please.

W: And that’s for here or to go?

M:  For here.

W: O.K. That’s $135. Enjoy your meal.

Q:  Where did this conversation take place?
A. Inamovie theater. 2% 0 1%
B. Inahotel. 2% 0 1%
C In a grocery store. 12% 1% 4%
D. Inafast food restaurant. 83% 99% 94%

=D a =076 b =-239 c =024 =0.94 | =0.16

38. M: Excuse me, could you tell me how to get to the Confucius Temple?
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Cow>

0.16

bus 41.”

4)

Let me see...oh, yeah, you can take bus number 15 and get off at the train
station. Then transfer to bus number 41. That goes directly to the Confucius
Temple.

M: 15 to the train station, then 41. OK, | gotit. Thanks a lot.

W:  You’re welcome.

Q: According to the woman, how can the man get to the Confucius Temple?
He has to take a train first. 5% 2% 4%
He can take bus 15 or bus 41. 79% 18% 54%
He has to transfer buses. 9% 80% 40%
He can only take bus number 50. 7% 0 2%

=C a =098 b =093 ¢ =021 =0.40 =0.71
33 ( )
94%
38 “transfer”
“15 to the train station, then 41~
9% (79%) B “He can take bus 15 or
80% 40%

Freedle & Kostin (1996)

42,

oOw>»

42

M: I hear you were accepted at the University of Hawaii. Congratulations!

W: Thanks. Yes, I’m really looking forward to the sand and the sun. The beaches
are supposed to be great.

M: Hang on—you’ll have research to do and papers to write. You won’t be there
on vacation, you know.

W: Oh, I’ll get my work done. But | don’t plan to spend every weekend in the
library.

Q:  What is the man afraid that the woman might do?

Spend too much time at the beach. 15% 36% 24%

Write a lot of papers. 10% 8% 9%

Stay in the library on weekends. 57% 48% 54%

Go swimming in her free time. 16% 8% 12%

=A a =089 b =204 ¢ =019 =0.24 =0.21
( )

L-21



24% C “Stay in the library on weekends.”
“But | don’t plan to spend every weekend in the library.”
54% 57% 48%

43

(lexical overlap)

A B ( 15
) A
A ( 45% ~ 75%) 60%
1) ( ) 140wpm
2) A B 39% 5.7%
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( A 26 34 )

3)
(lexical overlap)
1) (construct validity)
( STEP )
(concurrent validity)
2) Wu (1998) immediate
retrospection a)
(test-taking strategies) b)
3) « ) ( )
Buck(1994)
4)

Freedle & Kostin (1996) Nissan et al.(1996) Buck & Tatsuoka (1998)
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SH-1 220 | 29.077 0.646 |7.686 181 |25.431 0.565 | 6.489
SH-2 o1 28.314 0.629 7.323 53 26.113 | 0.580 6.229
SH-3 33 20.546 0.457 7.260
SH-4 48 20.688 | 0.460 6.172
SH-5 17 38.940 0.865 5.803
SH-6 49 33.184 0.737 6.482
SH-7 52 29.981 0.666 7.408
JC-1-3 46 20.739 0.461 6.718
JC-1-5 46 27.848 0.619 7.445
Sv-1 41 23.390 0.520 6.503
GP 32 34.968 0.777 6.198
587 28.372 0.638 8.316 282 24.752 | 0.550 6.621
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6 ( )

L% M% H% T% L% M% H% T%
47 53 66 55 9 5 0 5
42 41 32 39 18 19 9 16

8 5 2 5 60 61 52 58
3 1 1 2 11 14 39 21
3 1 1 2
7. ¢ )

L% M% H% T% L% M% H% T%
42 47 71 53 14 9 1 8
54 50 25 44 56 50 26 44

1 2 2 2 25 37 61 41
3 1 1 0 2 4 11 6
3 1 1 2
8. ( )
L% M% H% T% L% M% H% T%
7 4 1 4 30 23 3 19
42 34 34 36 46 45 40 44
42 53 58 51 18 27 46 30
6 8 7 7 3 5 10 6
3 1 1 2 3 1 1 2
9.

L% M% H% T% L% M% H% T%
10 13 2 9 5 3 3 4
38 28 25 30 50 53 60 54
46 53 67 55 30 31 33 32

4 4 6 4 11 11 3 9
3 2 1 2 3 2 1 2
10.

L% M% H% T% L% M% H% T%
71 66 56 64 1 2 2 2
10 12 8 10 199 21 25 22
14 20 35 23 48 49 54 50

4 2 1 2 30 27 17 25
3 2 1 2
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% % % % % % %
100 0 0 100 0 0 0
9 ()
( )
% % % % % % % %
17 36 43 4 | 100 0 0 0
10.
% % % % % % %
75 17 8 0 77 23 0
11.
% % % % % % %
92 0 8 0 75 25 0
(45 ) 12.
% % % % % % %
69 8 23 31 54 15 0
13.
% % % % % %
100 0 0 100 0 0
% % % %
77 15 0 8
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15

15

15

Part

45

45

16

16

15
15
15
45

Part

AN T W0 O N~
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(
20% 80%

586
282 B A B
0.460 0.448
7 6.585 5.782(
A B
0.483 0.494 2997 2.748
12,980 12.241

4.269 3.820 A B

A B 26 21

R-3

5,000

304
20.707 20.138
40 35
7.727 7.897

0.448 0.422

A



A (45 ) B (45 )
Part( ) A(15 )|B(15 )|C(5 )|AI5 )[B@A5 )|C@15 )
40 35
14 14 14 13 13 13
7 7
1 0 1 1 0 1
20 20
7 7 7 7 7 6
20.707 20.138
7.020 | 6.875 | 6.813 | 7.199 | 6.833 | 6.106
0.460 0.448
0.468 | 0.458 | 0.454 | 0466 | 0.419 | 0.487
6.585 5.782
2.697 | 2445 | 2.822 | 2430 | 2243 | 2427
0.788 0.729
0.590 | 0.490 | 0.611 | 0.466 | 0.419 | 0.487
304 282
A B
16 29 16 29
15 26 16 21
0 4 1 3
8 13 8 12
7.727 12.980 7.897 12.241
2.997 4.269 2.748 3.820
0.483 0.448 0.494 0.422
0.634 0.678 0.564 0.606
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A B
SH-1 | 220 22.0409 0.4898 6.4873 | 181 21.4420 0.4765 |5.4112
SH-2 51 19.7255 0.4383 5.1345 | 53 20.6604 0.4591 |5.1326
SH-3 33 13.3333 0.2963 3.5853
SH-4 48 14.6458 0.3255 |4.6517
SH-5 17 35.9412 0.7987 5.2377
SH-6 49 23.5714 0.5238 6.1373
SH-7 52 23.7885 0.5286 6.1812
JC-1-5| 46 21.0652 0.4681 6.4546
JC-1-3| 46 15.2174 0.3382 3.7648
SVv-1 41 15.9268 0.3539 3.6359
GP 32 24.0625 0.5347 7.7457
587 21.0782 0.4684 7.1993 | 282 20.1383 0.4475 |5.7923
Il.
A B 0.4~0.6 A
B B 0.4~0.6
A A B B
0.693  0.652( )
0.3~0.7
A B
Sub-test
Part A Part B Part C Part A Part B Part C
PartA | 1.000 0.444 0.577 1.000 0.532 0.439
Part B 0.444 1.000 0.544 0.532 1.000 0.517
Part C 0.577 0.544 1.000 0.439 0.517 1.000
Part A 0.475 0.464 0.544 0.378 0.377 0.450
Part B 0.460 0.463 0.509 0.470 0.457 0.488
Part C 0.580 0.509 0.563 0.444 0.400 0.510
0.693 0.652




Item Response Theory a

b c
p 27%
27%
A B 80% ( )y ( 030 080 )
B (P 0.25) A B

.10~.19 |.20~.29 |.30~.39 |.40~.49 |.50~.59 |.60~.69 |.70~.79 |.80~.89

A 1 7 10 10 7 4 5 1 10.460
B 4 5 10 6 12 5 3 0 10.448

10%
A B

.10~.19 |.20~.29 |.30~.39 |.40~.49 |.50~.59 |.60~.69 |.70~.79 |.80~.89

A 0 3 2 4 3 0 2 1 |0.468

B 1 1 3 2 5 2 1 0 |0.466

(collocation)

A 13 IRT a 0.76
b 265 “see” “look” *“check”
“watch (out)” 25%
B “look in” C “check into” 27% D

R-7




“watch out” 40%

13. Defensive drivers their driving mirrors frequently so that they know
at all times if there are other vehicles or people nearby.
A. seeto 7% 9% 8%
B. look in 39% | 18% | 25%
C. check into 17% | 44% | 27%
D. watch out 38% | 29% | 40%
=B a=0.76 b=2.65 c=0.22 =25 | =21
A 12
93% 55% ( 75%) C
whom
“whom” “population”
A 4 + + +
75%
12. Nepal , a small country located between Tibet and India, has of
11.3 million, most of whom are Mongol or Aryan.
A. arms 0% 9% 5%
B. taxation 2% 19% 10%
C. apopulation 93% 55% 75%
D. aland 5% 17% 11%
=C  a=0.59 b=-0.75 c=0.25 =75 | =38
4. many desirable qualities which make it a commercially very useful
metal.
A. Aluminum has 84% | 56% | 75%
B. That aluminum has 13% | 20% | 14%
C. Aluminum having 2% 15% 7%
D. Aluminum to have 1% 8% 3%
=A a=0.58 b=-0.89 c=0.25 =75 =.28
B 11
92% “only”
B “may be”
42% “only” “not only ...but also”
A “but also” 19%
11. Only by making fundamental changes will it possible to bring the

crisis to a close.

R-8



A. but also 0% 19% 8%
B. may be 8% 42% | 26%
C. then 0% 5% 2%
D. be 92% | 34% | 64%
=D a=0.66 b=-0.37 c=0.23 =.64 =.58
(modal auxiliary) A 10
50% A 8
43%
10. Construction of the new highway system completed on time if more
workers had been hired.
A. needs to be 6% 24% | 13%
B. would have been 69% | 30% | 50%
C. will be 13% | 29% | 20%
D. should have 12% 16% 16%
=B a=056 b=0.88 c=0.25 =50 | =38
8. If atypist wishes to type rapidly, he develop a rhythmic movement of
his fingers.
A. used to 6% 24% | 14%
B. must 63% | 29% | 43%
C. would 22% | 30% | 28%
D. hadto 9% 16% | 15%
=B a=0.72 b=1.15 c=0.24 =.43 =.33
6
74% 35% B “have been struck”
26%
6. So far this year four typhoons — two of them very strong — southern
Taiwan.
A. were striking 11% | 18% | 16%
B. will strike 5% 21% 11%
C. have been struck 11% | 35% | 21%
D. have struck 74% 26% | 52%
=D a=0.74 b=0.51 c=0.23 =52 =.48
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A B
.10~.19 |.20~.29 |.30~.39 |.40~.49 |.50~.59 |.60~.69 |.70~.79 |.80~.89
A 1 2 4 3 1 2 2 0 |0.458
B 2 2 1 3 3 3 1 0 |0.419
(referential it this)
025( B 23 )
(substitution) 70%
20%
(transition word)
75% 40%( B 21 22 )
Questions 21-25

Countries that produce coffee have traditionally aged their coffee beans.
(21) , modern shipping practices are getting coffee to market faster and

faster. (22) , consumers have acquired a taste for fresher coffee and

therefore fresher beans. (23) has caused a major shift in coffee bean

(24) procedures. In the past, coffee bean producers (25) store
their beans in old warehouses without worrying about climate control or speed to

market. Now, however, these considerations are key to the success of the coffee
bean industry.

21. A
B.
C.
D.

22.

OO ®

23. A

Then

Today

As usual

For this reason
=B a=0.46

b=-0.48 c=0.25

As a result
First of all
In short
In fact
=A a=0.61

b=0.63 c=0.23

One

R-10

2% 8% 5%
81% | 48% | 67%
1% 12% 6%
16% | 32% | 23%
=.67 =.33
75% | 27% | 49%
8% 12% 9%
2% 10% 6%
15% | 51% | 35%
=.49 =.48
67% | 70% | 69%
1% 10% 5%




C. This 25% 4% 15%
D. Which 7% 16% | 11%
=C a=0.67 b=3.29 c=0.19 =.15 =21

.10~.19 |.20~.29 |.30~.39 |.40~.49 |.50~.59 |.60~.69 |.70~.79 |.80~.89

A 0 2 4 3 3 2 1 0 10.454

B 1 2 6 1 4 0 1 0 10.487

A 31 “behave” B 42  “chilly” B
38 “executives” A 37  “field”

“behave” 77 “We say that if he or she behaves
politely and is kind and helpful to others.”
chilly 108 “Would you be so kind as to
roll your window up a little? The wind’s just a little bit chilly.” executive
2 “He seems more like a military officer than a business
executive.” field A 31 “behave”
76% B 42 “chilly”31% B 38

“executives’29% A 37 “field”45%

75% 30%

R-11




Questions 36~38

After several years of falling sales, Burger King is selling more food again.
Their problems began when another company from Britain bought their
parent company, and British executives tried to run Burger King, a company
that sells American food. The British people at the top simply did not

(5) understand hamburgers and tried things like pizza and shrimp baskets. The
higher management also failed to listen to the shop owners, who knew what
was good and what was bad. Things changed in 1993. The unhappy shop
owners got together to tell the management what was wrong, and since then,
Burger King has returned to the basics: hamburgers, French fries, and drinks.

(10) The new president of the company, an American, also brought Burger King
back by offering low-priced meals and a new hamburger that is similar to the
McDonald’s Big Mac. In 1996, Burger King’s share of the market grew
from 18% to 19%, still far behind the competition, but the improvement has
been continuous, and the British are letting Americans sell American food.

36. According to this passage, what was the major cause of Burger King’s sales

problem?

A. The British people did not like hamburgers.

B. The shop owners were not happy with the new
management.

C. The new management did not understand
American food.

D. McDonald's was too competitive for Burger
King.

=C a=0.48 b=0.32 c=0.24

King’s sales problem?” 75%

37. According to the passage, who saved the company?
A. The new cooks.
B. The store owners.
C. The British customers.
D. An American company.

16% 16% 16%
6% 25% 14%
75% 35% 56%
2% 21% 12%
=56 | =40
“ what was the major cause of Burger
35%
3% 10% 6%
61% 17% 39%
7% 36% 21%
28% 35% 33%
=39 | =44

=B a=0.62 b=1.33 c=0.23

“The unhappy shop owners got together to tell the management

what was wrong,...Burger King’s share of the market grew from 18% to

19%...” 69%

R-12
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38. The word *“executives” in line 3 is most similar in meaning to

A. food suppliers. 41% | 36% | 41%
B. investment bankers. 14% | 29% | 17%
C. administrative heads. 35% | 17% | 29%
D. government officials. 9% 16% | 12%
=C a=0.61 b=2.55 c=0.23 =.29 ‘ =.18
“The British
people at the top” “The higher management”
35%
.
570 13
68% 29%
( 79% 64% 54%)
( 18% 31% 37%) 100%
55% 33% 12%
69% 15%
54%
44% 63%
46% 28% 85%
Part C 49%
( 62% 44% 34% )
Part A 33% PartB 17% _
(92%) Part C
. 48% 63% 50%
46% 35% 43% 77%
15%
62%
( 68% 60% 42%) 31%
92%

R-13



41% 45%
24% 31%

69% 85%

(collocation)

(modal auxiliary)
(referential it this)

(microlinguistic and macrolinguistic skills)

(Dubin et al., 1986)

A B 0.460 0.448

10

R-14



15

10

15

40

45

R-15

60%



5. ( )
L% M% Ao L% M% H % T %
54 6 4 79 6 8 L6 8
37 31 18 29 4 4 4 2
4 2 1 1 33 4 3
4 4 1 1 4 4
4 4 1
6. ( )
L% M% TH#80 L% M% H % T %
5 7 5 5 21 11
31 31 21 28 b 4 49
48 50 6 4 55 19 36
11 9 9 12 2 2
5 3 1 0 4 4
7. ( )
L% M% TH#80 L% M% H % T %
19 12 5 14 2|9 14
46 37 29 40 4 1 35
28 4 6 6 B 4 4 2 1 4 2
3 1 2 1 5 5
4 4 1 1 4 4
8 .
L% M% H % T % L% M% H %
34 34 20 33 3 2
24 16 15 17 3|7 58
34 4 4 6 2 49 36 28
7 4 1 1 17 8
5 4 1
9.
L% M% H %
2 2 5
27 34 52
45 47 35
19 11 5
7 5 3

R-16



5.
% % % % % % % %
100 0 0 0
6 .
)
% % % % % % % %
6 2 69 92 0
7.
% % % % % % % %
69 15 8 8
8.
% % % % % % % %
85 8 0 8 1 5
9.
% % %
85 0
(8% )

R-17
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TWE



task

N o o s~ wDd PR

11

24 3

24
0~5
analytical scoring
overall effectiveness 0~5

15 writing

40
264

264

holistic scoring

error count



0 1
3 4
2
(1) <2
(2) > 2
(3)
= (x8) + ( x12)
(1)
264 49.31
50 14.231 90
1 20 8 8.33% 60 28
10.61% 40 23 8.71% ( )
80
80 SH-5
100 90 84 80
29% 60~76 (
264
SH-5
49.31 72.59
50 18 6.82% 70 4
14.231 12.2630
90 1 0.76% 100 1
20 8 8.33% 60 4
60 28 10.61% 60, 70 4
40 23 8.71% 64, 90 2




35

30

25

20

15

10

20 24 28 32 36 40

18

44 48 52

28

18

56 60 64 70 74 78 90




=264

% SH-5 %

100 0 0 0% 1 1 6%
90 1 1 0% 2 3 24%
84 0 1 0% 1 4 24%
80 1 2 1% 1 5 29%
78 3 5 2% 0 5 29%
76 3 8 3% 1 6 35%
74 1 9 3% 0 6 35%
72 5 14 5% 0 6 35%
70 8 22 8% 4 10 59%
66 13 35 13% 1 11 65%
64 8 43 16% 2 13 76%
62 45 17% 0 13 76%
60 28 73 28% 4 17 100%
58 6 79 30%

56 18 97 37%

54 21 118 45%

52 13 131 50%

50 18 149 56%

48 11 160 61%

46 12 172 65%

44 9 181 69%

42 4 185 70%

40 23 208 79%

38 1 209 79%

36 6 215 81%

34 8 223 84%

32 2 225 85%

30 11 236 89%

28 6 242 92%

26 3 245 93%

24 10 255 97%

22 1 256 97%

20 8 264 100%




@)

57~37 SH-5
56.20 10.88 GP SH-7 JC1-5 53.19
52.85 51.13 12.3064 15.574 11.8032 SV-1 43.15
12.753 JC1-3 38.58 13.133 SH-5
GP 60 JC1-5 56 60 SV-1 54
SH-7 48 JC1-3 40 ( LSD test JC1-3
SV-1 0.05 )
SH-6 SH-7 JC1-5 GP JC1-3 Sv-1
SH-6 | SH-7 | Sv-1 | JC1-3 | JC1-5 GP SH-S
49 52 40 45 46 32 17
56.20 | 52.85 | 43.15 | 3858 | 51.13 | 53.19 | 72.59
56 53 48 38 52 55 70
10.88 | 15.574 | 12.753 | 13.133 | 11.8032 | 12.3064 | 12.2630
78 78 60 70 90 80 100
30 20 20 20 28 28 60
60 48 54 40 |56 60| 60 60, 70
v =
JC1-3 SV-1 JC1-5 SH-7 GP SH-6
Jc1-3
SV-1
JC1-5 v v
SH-7 4 v
GP v v
SH-6 v v
SV-1 JC1-5
GP JC1-3
SH-6



—2&—SH-6 —*—SH-7 SV-1
JC1-3 JC1-5 - - "GP

25

20 1

15

10 1

5 L

0
10-19 20-29 30-39 40-49 50-59 60-69 70-79 80-89

SH-6  SH-7
13
SH-6
SH-7
GP 80 JC1-5 90 SH-6
( )

90-99



SH-5

SH6 | SH7 | sv-1 | )13 | JC15 | GP
(9 ) | (52 ) | @0 ) | (5 ) | @6 )| @ )| g,
% % % % % % %
100 0 | 0% | O | 0% | O | 0% | O [ 0% | O | 0% | O [0% | 1 | 6%
90 0 |0%| O |0%|) 0O |[0% | O |0% | 1 2% | O |0% | 3 |18%
84 0 0% | 0 |[0% ) O 0% | O | 0% | 1 |2% | O [0% | 4 |24%
80 0 |0% | O |0% ) 0O |0% | O |[0% | 1 2% | 1 |3%| 5 |29%
78 1 | 2% | 2 |4% | 0 [0% | O | 0% | 1 | 2% | 1 [3% | 5 |29%
76 2 | 4% | 4 8% | O 0% | O |[0% | 1 [2% | 1 |3% | 6 |35%
74 2 |4% | 5 |10%| O [ 0% | O | 0% | 1 [ 2% | 1 |3% | 6 |35%
72 5 [10%| 6 |[12%| O [ 0% | O | 0% | 1 | 2% | 2 | 6% | 6 |35%
70 6 [12%| 9 [17%| 0 [ 0% | 1 | 2% | 3 | 7% | 3 | 9% | 10 |59%
66 11 [22% | 13 |[25% | 0 [ 0% | 2 | 4% | 4 | 9% | 5 |16%| 11 |65%
64 15 [31%| 16 |[31% | 0O [ 0% | 2 | 4% | 4 | 9% | 6 |19%| 13 |76%
62 | 16 |33% | 16 [31%| O | 0% | 2 | 4% | 5 |[11%| 6 |19%| 13 |76%
60 | 23 47% | 21 |40%| 2 | 5% | 4 | 9% | 11 |24%| 12 [38% | 17 |100%
58 24 |49% | 24 |46% | 3 | 8% | 4 | 9% | 11 |24%| 13 [41%
56 27 |55% | 24 |46% | 7 |18%| 6 | 13% | 17 |37% | 16 |50%
54 | 30 61% | 26 |50% | 13 |33% | 8 |18% | 22 |48%| 19 |59%
52 | 32 | 65% | 29 |56% | 15 |38%| 9 |20% | 26 |57% | 20 |63%
50 | 37 | 76% | 30 |[58% | 20 |50% | 10 |22% | 31 |67% | 21 |66%
48 39 |80% | 37 |71% | 20 |50% | 12 | 27% | 31 |67% | 21 |66%
46 | 42 |86% | 37 |71% | 22 |55% | 14 |31% | 33 |72% | 24 |75%
44 | 44 |90% | 41 | 79% | 22 |55% | 14 |31% | 34 |74% | 26 |81%
42 | 44 |90% | 42 |81%| 23 |58% | 15 |33% | 35 |76% | 26 |81%
40 | 46 |94% | 44 | 85% | 27 | 68% | 22 |49% | 40 |87% | 29 |91%
38 | 46 | 94% | 44 |85% | 27 |68% | 23 |51% | 40 |87%| 29 |91%
36 | 48 | 98% | 44 |85% | 28 |70% | 25 |56% | 41 |89% | 29 |91%
34 | 48 98% | 45 |87% | 30 |75% | 29 |64% | 42 | 91% | 29 |91%
32 | 48 98% | 45 |87% | 30 |75% | 29 |64% | 44 | 96% | 29 |91%
30 | 49 |100%| 45 |87% | 33 |83% | 33 |73% | 45 | 98% | 31 |97%
28 47 190% | 33 |83% | 35 |78% | 46 |100%| 32 |100%
26 47 |90% | 34 |85% | 37 |82%
24 51 | 98% | 37 |93% | 40 | 8%
22 51 |98% | 37 |93% | 41 | 91%
20 52 |100%| 40 |100%| 45 |100%




3)

A 50.20 14578 B
48.81 16.115 C 48.91 11.895
t 0.05
C ) C
27% A B
C A B 36 C
31 ( )
264
A B C
88 86 90
50.20 48.81 48.91
50 50 52
14.578 16.115 11.895
78 90 72
20 20 20
60 60 56

0-9 10-19 20-29 30-39 40-49 50-59 60-69 70-79 80-89 90-100



A B C

B C
90 1 1 1%
80 1 2 2%
78 2 2 2% 1 3 3%
76 1 3 3% 2 5 6%
74 1 4 5% 0 5 6%
72 3 7 8% 0 5 6% 2 2 2%
70 2 9 10% 6 11 13% 0 2 2%
66 5 14 16% 3 14 16% 5 7 8%
64 5 19 22% 1 15 17% 2 9 10%
62 1 20 23% 1 16 19% 0 9 10%
60 9 29 33% | 11 27 31% 8 17 19%
58 3 32 36% 1 28 33% 2 19 21%
56 2 34 39% 5 33 38% 11 30 33%
54 8 42 48% 3 36 42% 10 40 44%
52 0 42 48% 5 41 48% 8 48 53%
50 8 50 51% 5 46 53% 5 53 59%
48 6 56 64% 3 49 S51% 2 55 61%
46 2 58 66% 4 53 62% 6 61 68%
44 3 61 69% 2 55 64% 4 65 2%
42 3 64 73% 0 55 64% 1 66 73%
40 5 69 78% 8 63 73% 10 76 84%
38 1 70 80% 0 63 73% 0 76 84%
36 0 70 80% 4 67 78% 2 78 87%
34 3 73 83% 2 69 80% 3 81 90%
32 1 74 84% 1 70 81% 0 81 90%
30 5 79 90% 5 75 87% 1 82 91%
28 3 82 93% 2 77 90% 1 83 92%
26 1 83 94% 1 78 91% 1 84 93%
24 4 87 99% 3 81 94% 3 87 97%
22 0 87 99% 0 81 94% 1 88 98%
20 1 88 100% | 5 86 100% 2 90 100%
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264

A B C A B C
22 28 21 27 27 17
30.36 | 30.29 32 66.44 | 66.81 | 63.65
5712 | 6.965 | 7.510 | 5.800 | 7.869 | 4.137
40 40 40 78 90 72
20 20 20 60 60 60
30 |203040| 40 60 60 60
(4)
0~5
2.5076 0.7514 2.4375
0.8516 2.5 3 45 0
0.5751
2 3 5
2.5 X 50~60
2-3
=264
2.5076 2.4375
2.5 25 49 | 59 | 19% | 23%
0.7514 0.8516
45 45 3 3 1% | 1%
0 0 3 1%
3 3 84 | 67 | 31% | 25%
0.5751
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90
80 1
70 1
60
50 r
40
30 |
20
10
0
00 05 10 15 20 25 30 35 40 45 50
5.0 0 0 0% 0 0 0%
4.5 3 3 1% 3 3 1%
4.0 3 6 2% 9 12 5%
3.5 27 33 13 % 25 37 14 %
3.0 84 117 44 % 67 104 39 %
2.5 49 166 63 % 59 163 62 %
2.0 61 227 86 % 50 213 81 %
1.5 23 250 95 % 25 238 90 %
1.0 11 261 99 % 20 258 98 %
0.5 0 261 99 % 1 259 98 %
0.0 3 264 100 % 5 264 100 %

W-12




A 27 B C 24
09268 A C 0.7086 0.5704
A-C t =24 005 A B C
2.4 B 0.9449 A
08651 C 0.7466  LSD test A-C t =24
=264
A B C A B C
88 86 90 88 86 90
2.6534 | 2.4477 | 2.4222 | 2.4148 | 2.4360 | 2.4611
0.7086 | 0.9268 | 0.5704 | 0.8651 | 0.9449 | 0.7466
45 45 35 45 45 4
1 0 1 0 0 0
A
B C A /
B C
A
/ C
©)
77 240
32% (
110 46% 48 20%
14 5.83% 7
2 2 14
2 (31 3-1) 2 2-2

W-13




=240

(%) (%) (%)
0 138 (57.5%) 146 (60.8%) 77 (32.1%)
1 95 (39.6%) 87 (36.3%) 110 (45.8%)
2 7 (2.9%) 7 (2.9%) 48 (20%)
3 - - 4 (1.7%)
4 - - 1 (0.4%)
24 11 the Kendall
coefficient of concordance 0.7211 0.7868
(6)
285 4 264
SH-5 17
40
30 SH-5
7 41%
A
4
17
SH-5
SH-5

W-14



A B C A B C
SH-6 O v N2 N2 v ©)
SH-7 O O O v v v
JC1-3 O v v v O N2
JC1-5 ©) N2 v N2 v ©)
O= v'= v =
SH-5
SH-5
20% 12% 1% 24% 12% 29%
64% S7% 27% 76% 76% 71%
12% 26% 29% 12%
4% 5% 44%
=80 =60~79 =50~59 =50
3
1
23%
SH-5

63%

5%

W-15




SH-5
5% 5% 3% 6% 63% 13%
64% | 47% 41% 81% 31% 50%
25% | 38% 33% 13% 6% 38%
5% 9% 23%
48%
60~69 19% 35% 60
72% 60 SH-5 19%
80 29% 80 50%
60~69 9%
SH-5
(80 ) 5% 1% 19% 29%
(70-79 ) 15% 8% 31% 29%
(60-69 ) 48% 19% 50% 41%
(60 ) 35% 72%
(7)
22 SH-5 17

W-16



72.59 3 5 6
70 4 3.5 7 5
12.26 4 1 3
100 1 4.5 3 2
60 4 5 1 1
70, 60 4
5
30 15~20 11
4~5 4.58 5
100~150 120
150
120 8~12 8 50
8~12
A -
B
C
C
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4.5

4.5

4.5

11

(6]

(63}
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3.5

communicative competence

80
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50
SH-6 SH-7
SH-6 SH-7 JC1-5
C
100~150
8~12 8~12
2 3
5 70%
TWE 5

0 1 15 2 25 3 35 4

W-19



2 1.5~35
1 1.5-3
0-15
80 90 4.5
80 4 0.07%
TOEFL TWE

TOEFL 593 597 TWE 3 4 TWE
24 62 1996 ~1997 34 24%
62% TOEFL TWE

TOEFL TWE
SH-6 5
29%
3.5 70 SH-6 12% 59%
4 High Pass
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(40 )

(60 )

12 )

John

W-21
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40

(40 )

(60 )

g 12 )

An Embarrassing Situation

Yesterday was Peter's birthday. To celebrate, he invited some of his
friends to have lunch with him at his favorite restaurant. Everyone had a
good time. When they finished eating, Peter went to the counter to pay
the bill. But when he looked in his wallet, he found that he had no
money. ...
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(60 )

(8 12 )

Peter Susan

Peter Susan

Decerm

Dear Peter and Susan,

Chi h-chung
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(text)
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64% 16%
34% 58%
2% 24%
2%
8.
51% 5%
44% 64%
5% 25%
5%
0. (
74% 5%
25% 47%
1% 38%
9%
10. (
14% 3%
82% 41%
6% 33%
23%
11.

2% (80 ) 2%
12% (70-79 ) 15%
66% ( 60-69 ) 48%
20% (60 ) 35%

5%

26%
57%
12%
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(40 )

(WTI-A, WTI-B, WTI-C)
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TWE

SCORE RESULTS FOR

THE TEST OF WRITTEN ENGLISH

The TWE score is reported on a scale of 1 to 6. A score between two points on

the scale (5.5, 4.5, 3.5, 2.5, 1.5) can also be reported. The score is printed in a

separate box on the TOEFL score report; it is not added to the TOEFL score.

Each essay is independently scored by two qualified readers. Neither reader

knows the score assigned by the other. In the case of a discrepancy of more

than one point, a third reader will score the essay.
If you write an essay on a different topic than the one assigned, your essay will not
be scored and your score report will state "Examinee did not write on the assigned
topic."”

Scores Explanations of TWE Scores

6 Demonstrates clear competence in writing on both the rhetorical and syntactic
levels, though the essay may have occasional errors.

5 Demonstrates competence in writing on both the rhetorical and syntactic levels,
though the essay will probably have occasional errors.

4 Demonstrates minimal, competence in writing on both the rhetorical and
syntactic levels.

3 Demonstrates some developing competence in writing, but the essay remains
flawed on either the rhetorical or syntactic level, or both.
Suggests incompetence in writing.
Demonstrates incompetence in writing.

The following codes and explanations may also appear on a TOEFL/ TWE score
report:

INR Did not write an essay.

OFF Did not write on assigned topic.
* TWE not offered on this date.
** TWE score not available.
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INTERPRETING YOUR TWE SCORE

Use the TWE Score Comparison Table to help you interpret your score. Assume
--that your TWE score is 4.5. Under "Your Score" in the table, find the score 4.5. In
the "Percentile Rank™ column, opposite 4.5, is the number 81.  This number means
that you achieved a higher score on the TWE test than approximately 81 percent of all
people who took the test from July 1996 through June 1997.*

ACCEPTABLE SCORES

There are no passing or failing scores, as such, on the TWE test. Each institution
determines for itself whether to use TWE score information in conjunction with
TOEFL score information and what score ranges are acceptable. To learn how
scores are interpreted, contact the institutions that have received your test results.

* The percentile rank for each score point is defined as the percentage of examinees scoring below, plus

one-half of the percentage of examinees who achieved, that score.

TWE SCORE COMPARISON TABLE
(based on the scores of 338,832 examinees
who took the test from July 1996 through June 1997)

TWE SCORE
Your Percentile Your Percentile
Score Rank Score Rank

6.0 99 3.0 24

55 97 2.5 10

5.0 91 2.0 5

4.5 81 15 2

4.0 62 1.0 <1

35 41
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Form A

I and John at the same school. We often go to play baskball. Have a
much happy time. He and his family live in the Taiwan’s
We lose

Form A
When the children, my neighbor, John and I study the same school. Then
we often played basketball together and had many fun times. After , his
family moved outside of the country. We have no

Form A

When | was young, | studied in the same school with my neighbor,
John We often played basketball with each other and had a good time

then. After graduated, he and his family imigrated to the foreign country.
After that, we losed the track of each other.
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Form B
Many people don’t know how to strengthen English composition ability.
Actually, reading good articles more is of great help. Besides, you can
write your diary in English or make some foriegn pen pals. Anyway,
practing constantly is the only way to progress.

Form B
Many people have no idea how to improve their English writing skills
in English. Actually, reading as many good articles as possible is of great
help. In addition, you can keep a diary in English or have a foreigner as
your pen pal. To sum up, only by practicing constantly can you make
progress in your English.
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Form A
There are very car in the Taiwan. So Taiwan’s trantrap is very worse. Go
to school by motorcycle is very convenient and quickly. And save your time.
Motorcycle price is cheap so student have enough money to buy. It is not
biger than car. When crowed, it can go to your want to the place.

Form A
I think the problem is in the public transportation.
Can you image that if you want for a bus, you must spead thirty minutes at
least. And the time is much longer than that you ride a mortocycle.
It is conveiant to have a mortocycle.
You can go to everywhere you want to go if you have time.
You never spead any time wait for a bus which no one knows when it will
come.
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Form C

| had a good time at your home in that week. 1 thank for your treating. |
love to eat the food which were cooked by your mother. | never forget that we
went fishing and climbing. That was a very special experience. \We sang songs
and danced with each other.  And your father taught me how to swim. | was
very afraid of swimming before. But I like it now.

That is really a happy time. | want you can come to my home. Then
we can play each other. And I will take you to visit the viewpoints in
Taichung. We can take many beautiful pictures. 1 guess you will also have
avery good time. To sum up, | hope you can come to my home recently.

4 Form A

There is a large number of motorcycles in Taiwan. There are some
reasons to explain why the motocycles are so popular.  First, Taiwan is so
populous and there isn’t enough room for everyone to have a car. With a
motorcycle, you can get rid of the traffic jam. And you won’t worry about
where to park you car, because the motor-cycle is much smaller.  Second, it’s
convenient to go anywhere if you have a motorcycle. Having a motorcycle,
you won’t be anxious about the delay of the bus. It will also be work if you
have a bicycle. But riding bicycle to school is too hard a work.  Third, the
parents in Taiwan love their children excesirely. The parents can deny their
children nothing.  So, with the promissing in economic, almost ever one can
have his own motorcycle. To sum up, if we want to live high quality lives, the
government should take measures to prevent the growing number of
motorcycles.
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Form B

His smile froze. He forgot that he had spent all his money in the
supermarket two days ago! He tried to figure out a way, like borrowing some
money from his friends; but wait, it was his birthday! How could he make
such an embarrassing request? While he kept worrying about how to open
his mouth to ask his best friend Robin for some money, here came the rescue.
That was Peter’s sister, Mary. He pretended nothing happened and walked
straight to her, concealing his excitement. He whispered, “My dear lady,
could you lend my some money? | forgot to bring mine!””  So she did.
Peter bounced back to the counter, paid the bill, and ended up this
embarrassing situation. He would never ever forget to check out his wallet
the next time.
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Functions of the elicitation tasks8®:

SurwnE

B oo~

(phoneme)

Describing

Narrating

Giving personal information
Giving instructions
Giving advice

Discussing

(advantage/ disadvantage,
agree/disagree)
Expressing opinion
Supporting opinion
Hypothesizing
Convincing/persuading

(communicative competence)

Shohamy(1994)

11.
12.
13.
14.
15.
16.
17.
18.
19.

20.

(functions)

Requesting information
Asking for clarification
Asking questions
Apologizing
Congratulating
Expressing thanks
Expressing courtesy
Showing preference
Talking about one’s
interest/hobby

Talking about one’s life
experience, etc.

8 Shohamy, Elana (1994) “The Validity of Direct Versus Semi-Direct Oral Tests." Language Testing
11(2):99-124.



Family: family life, family members, etc.

Technology: technology, science, etc.

Experience: personal experience, etc.

Psychology: psychology, personality, imagination, etc.
Recreation: recreation, leisure, traveling, etc.

School: school life, education, etc.

Society: social issues, social life, customs & culture, interpersonal relations,
etc.

Work: work, workplace, etc.

9. Health: medical care, nutrition, etc.

10. Others

N o o s~ wDd PR

Simple present
Simple past
Present continuous
Past continuous
Future

Conditional
Present/Past perfect
Modal

Others

© ©o N o gk~ wbdPE

3-5

(pronunciation &
intonation) (vocabulary & grammar) (comprehensibility)
(relevance) 0~5
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246 245
Sv-1 JC1-3 JC1-5 SH-6 SH-7 GP /
40 42 29+1 49 53 32 245+1
1.850 1.702 2.567 2.857 2.654 | 3.250 2.467
3.5 4.5 4.5 4.5 4 5 4.3
1 0 1 1 0.5 2 0.92
. 2.467 :0.958 2.5
2.467 0.958 2.5
GP( ) 3.250
SH-6(
30%) SH-7( 40%)  JC1-5( ) 2.857
2.654 2.567 SH-6 SH-7
SV-1( ) JC1-3(
1.850 1.702
6 0 51
50 4 4 4 4
4 071 29 5
301 23 20
2 01
103 H H 3 1
0 [ P I S N S I P
o) 5 1 1.5 2 2.5 3|3.5




5 1 0%
4.5 3 2%
4 20 10%
3.5 26 20%
3 51 41%
2.5 44 59%
2 44 7%
1.5 23 87%
1 29 98%
0.5 1 99%
0 3 100%
2 .
245 20
(tune-up)
LTTC 11 20
1 2.90 1.044
2 2.60 1.114
3 2.60 1.241
4 3.00 0.894
5 2.75 0.942
6 2.85 0.963
7 2.90 0.943
8 2.60 1.158
9 2.95 0.973
10 2.95 0.973
11 2.85 1.108
12 3.25 0.994
13 2.85 1.343
2.85 1.053

80

24
10%

70
20% 60
41% )

3.5

11



LTTC 11 Kendall 0.910
LTTC11 + 2 13 Kendall 0.896

245 20 2
58% 41%
1 1% (3 ) 2
1% (3/225=0.01)

0 1 2
130 92 3 225
58 % 41% 1% 100%
1.
Part Il  Answering Questions Functions / Structure
1. What are you doing right now? Describing/Present continuous

2. What is your favorite kind of music? Why? |Talking about one’s interest/hobby
/Simple present

3. How old were you when you began to learn |Giving personal info./Simple past
English?

4. In what kind of place will you stay quiet? Talking about one’s experience/Future

5. What would you do if the lights went out Hypothesizing/Conditional
while you were taking a shower?

6. What is the most relaxing time of the day for |Giving personal info./Simple present
you? Why?




7. What are the advantages & disadvantages of
fast food?

Discussing/Simple present

8. Do you get angry easily? What might be
some good ways to calm down when you are
very upset?

Giving advice/Simple present

9. Have you done something interesting this
week? Tell me about it.

Talking about one’s
experience/Present perfect

10. Would you rather see a Chinese movie or a
western one? Why?

Showing preference/Would rather

Part 111 Picture Description
Where are these children?
What are they doing?
Do you think they are enjoying themselves?
What makes you think so?

Describing/
Simple present, present continuous

1 Silent
2 I don’t know.
3 I don’t understand.
4 Wrong or Irrelevant response
5 Incomplete or Incomprehensible response
6 Comprehensible and relevant response
7 Others
1 2 3 4 5 6 7
Q1 2% 45% | 13.9% | 79.6%
Q2 10.6% | 1.2% 0.8% 6.9% | 14.7% | 65.7%
Q3 2% 0.4% 1.2% | 14.3% 82%
Q4 20.8% | 4.9% 2% 176% | 6.9% | 47.8%
Q5 18.8% | 4.1% 53% | 44.1% | 7.8% 20%
Q6 19.2% | 2.4% 41% | 23.3% | 11.4% | 39.2% | 0.4%
Q7 18.4% | 2.4% 45% | 28.6% | 15.1% 31%
Q8 4.1% 1.2% 0.4% 11% 26.1% | 57.1%




Q9 12.2% 2% 4.5% 20% 18% 42.4% | 0.8%
Q10 11.4% 1.6% 8.6% 22% 56.3%
1.2% 0.4% | 24.5% | 73.9%
1 Q4~Q7 18%~20%
2 I don't know.
Q4 Q5 4.9% 4.1%
3 I don't understand Q5~Q7 Q9
5%
4
Q5~Q7 Q5 What would you do if
the lights went out while you were taking a shower?
went out
shower Q5~Q7
Q5~Q7
Q#5 Q #6 Q#7
0
0.5
1 12 5 7
1.5 11 9 9
2 22 15 19
2.5 31 13 15
3 22 11 13
3.5 8 3 6
4 2 1 1
4.5
5
108 57 70
44% 23% 29%
2~3 3.5
Q5-~-Q7
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Q8~Q10

50%

Q8~Q10

Picture Description

15

Picture Description

Q1: What are you doing right now?

you when you began to learn English?
Picture Description

73%

eliciting tasks

Q5~-Q7

Q9

Q3: How old were

8 11
Structure
Y + +
S.B.
4
Intended Functions |Actual Functions & Structure
& Structure K. B. B. L. D. H. S.B. l. L.
Grade 8 Grade8 |Gradell |Gradell |Gradel1l

Q1 Describing/Present i i - -

continuous + simple

present

Q2 Talking about one’s i i ” ”

interest/hobby + +

/Simple present conditional |conditional
Q3 Giving personal "+ present |” “+past |7 +future,

info./Simple past perfect con. simple

present

Q4 Talking about one’s | Simple present | + present [ simple | + ~ modal,

experience/Future con. present conditional |present con.
Q5 Hypothesizing/Condi|” N N +present |~

tional perfect
Q6 Giving personal “ +Simple past, - - +present

info./Simple present |present con. & past con.
Q7 Discussing/Simple |” “+modal |~ i i

present
Q8 Giving advice / “ +talking about |© + modal | "+ modal | “+talking | +

Simple present one’s experience about one’s [conditional,
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experience+ |present
conditional, |perfect,
modal, modal
simple past
Q9 Talking about one’s | Simple past - +simple |© +past | narrating,
experience/Present past con., simple |present &
perfect past present
perfect con.
Q10 |[Showing “+simple | condition [ + ~ condition
preference/Would present al, simple |conditional |al, present
rather present continuous
Describing/Simple i i +present |~
present, present perfect,
continuous conditional
3.
1~6
10,110
90%
7390
garbage ( )
5000 disadvantage 5317
30
1~-6
(22641 ) (2549 ) (3624 ) (28814 )
30
917 ) 26(3%) 219(24%) 161(16%) 17(2%)
30 17 2%
5~8
4 .
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4 10% 5 1
30%
2.86 17
SH-5 0.662
17 5
3.941 3
80
5 2 12% 4
4.5 4 35% 4 11
4 5 65% 65%
35 2 76%
3 4 100%
SH-5 ( 245 ) : 2.467 :0.958 25
SH-5 ( 262 ) 2.563 :1.009 25
4 - 2
Silent
I don’t know.

~NooTh~hwWNE

| don’t understand.

Wrong or Irrelevant response
Incomplete or Incomprehensible response
Comprehensible and relevant response

Others
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1 2 3 4 5 6
Q1 100%
Q2 5.9% 94.1%
Q3 5.9% 5.9% 88.2%
Q4 5.9% 5.9% 88.2%
Q5 11.8% 17.6% 70.6%
Q6 5.9% 5.9% 88.2%
Q7 5.9% 11.8% 82.4%
Q8 100%
Q9 5.9% 94.1%
Q10 5.9% 5.9% 88.2%
100%
Q5 70.6% 80% QL Q8
100%
245
50%
51%
71% 44%
59%
75% 2
58%
1%
)
warm-up
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eliciting techniques

80 4
10% 65%
60 3
100% 41%
1.
1 2 2~3
1 67
3 171 4 3
47 54 58 1 40

2.

3.
disadvantage 5317 7 What are the advantages

and disadvantages of fast food?  advantage 1014 31%
4.
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: OTI-A

15

My nameis__ ( ), and my student number is__ ( ) .

1

I am writing to you to say how much | love your program. | never miss it. It’s
the most wonderful program that has ever been put on TV. Nearly all of my
classmates watch it, and as for the people who don’t like it, I can’t see what there is to
complain about. Most of the actors are outstanding. | think you should make it a
long-running series.

* * *

Humor is important. Every speech needs it, and we need it too. Many
professional speakers want a joke at the beginning of their speeches because they need
the quick victory of laughter. It helps them relax. It also helps the audience relax.

* * *

According to the report from the Environmental Protection Administration (EPA),
Taiwan generated about 8.9 million tons of garbage in 1997, an average of 24,000 tons
a day. In fact, the amount of waste disposal in Taiwan has grown 6 percent per year
over the last ten years. Taiwan is facing a garbage problem that is becoming more
and more serious.

2

10
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30

Where are these children?

What are they doing?

Do you think they are enjoying themselves? What makes you think so?

I you still have time, please describe the picture in as much detail as you can.

A

(

*

My name is__ ( ), and my student number is__ ( ) .

S-17



Q1:
Q2:
Q3:
Q4:
Q5:
Q6:
Q7:
Q8:

Q9:
Q10:

(Script)

What are you doing right now?
What is your favorite kind of music? Why?
How old were you when you began to learn English?
In what kind of place will you stay quiet?
What would you do if the lights went out while you were taking a shower?
What is the most relaxing time of the day for you? Why?
What are the advantages and disadvantages of fast food?
Do you get angry easily? What might be some good ways to calm down when you
are very upset?
Have you done something interesting this week? Tell me about it.

Would you rather see a Chinese movie or a western one? Why?
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10.

0%

70%
88%

55%
71%

51%
71%

76%
82%

5%
12%

10%
12%

2%
0%

75%
76%

5%

16%
0%

245

28%
12%

13%
18%

17%
6%

29%
23%

50%
65%

13%
6%

13%

12%

51%
71%

2%

32%
11%

33%
23%

21%
12%

60%
53%

38%
23%

78%
88%

13%
12%

62%
59%

31%
29%
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3%
6%

6%
12%

2%

7%
6%

12%
12%

20%
29%
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11.

21%
12%
12.
8%
12%
13.

4%
6%

44% 33%
59% 29%
53%
59%
23%

6%
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Part 2:

Part 3:

Part 2:

1~5

Questions
Q1:
Q2: 1 like pop — popular and rock music. Because it is very....

Q3: When I... when I thirteen years old, | beganning (P) to studying English.

Q4: ... 1pass.
Q5: ... I quit this one.
Q6: ... I quit this one.

Q7: ... Hamburger, fried chicken.

Q8: ... lIdon’tangr—Ididn’t angry very easy.

Q9: ... I quit this one.

Q10: ... Why | want see... movies.

They are in the field.... They are playing (P) together.... Yes, they are
enjoying themself, because... they, laughed.... And they look like very

happy.... (And their father is in back of them.) (Note: This last sentence was
so much later than the others that it was probably overheard.)

Questions

Q1: I'm writing (?) radio tape and uh I writing (?) speak--speaking English. 1
very —nervous, and uh, | hope I can do ver-.

Q2: 1 like the, mm, jazz, because that is very... very wonderful, and uh... I like
it.
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Part 3:

Part 2:

Q3:

Q4.

Q5:

Q6:

Q7.

Q8:

Qo:

Q10:

I learn English... in my... junior high school, and I since learn five years.
I think English is very difficult.

I think play (P)... tennis is, make me very boring and uh, I like play (P)
basketball.

| taking a shower in after school about nine o’clock. 1 like, I like take a
shower, after take shower, | will go bed (P).

I think, make me very relaxed day is, Friday, Friday right, because,
because mm... Sunday and Saturday is not working not do school, not do
anything, just at home, and very relax. 1 like Friday night, let me very -

| eat xxx very much, it is very delicious and uh I like it. My mother is
too, my family every night every dinner I will take take a lot of
vede-“vedetablegen”.

| very easy to angry. Because | very... | very hard (?) and uh, | will take
shower and mm eat food, make me don’t make me calm down. 1 will
control my... my mind. | hope I hope....

I will, I will sing song with my classmate, in this m-, in this evening, after
this test. 1 will I will going to zoo with my family in the Sunday. | hope
we have a, | have a fun king (?) weekend.

I don’t like the Chinese movie, because it is make me boring, I like, I like
see the course um and uh | don’t like the Chinese movie because it is very
slowly. | like the... (Chinese word).

These children in the park. There is have many sand, and they are playing
each other, they are very happy, and uh their (P) smile make me happy....

They are very enjoy themselves. 1 hope I can like them.... In the children, in
my children, | like them, I will, I will play with my brother to the park near my
near my home, and with the neighborhood. When I children, | very happy, like
them.... | can take care my brother and uh... this is very sunshine, and uh
very very much trees, and flowers. The trash can is, is much too. And -.

Questions
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Q1:
Q2:

Q3:
Q4.

Q5:
Q6:

Q7:

QS8:

Qo:

Q10:

Part 3:

I am talking ... I’m having a test now.

I like pop music, because it is a very wonderful music, and it is, uh, itis a
very beautiful music.

When | was 12 years old, my mother give me, gave me learned English.

Many um when aimport-... in a important place. And in a house
there is very quiet place, so | will, um, ...

When | was playing basketball or volleyball, I will take a shower.

When | take off a shower, after | take a shower, the time is my “relaxtion”
time, because it’s very con — comfortable. And, it’s take me easy, not
SO ... not so tired.

My advantage is fast food is french fries. My disadvantage is,
disadvantage fast food is hamburger.

No, I don’t very easily to angry. When I upset, I will go to listening to
the music, or watching the TV, or go to the movies, and I’ll also, and I also
go sleeping.

Yes, this week | do many interesting things. Um, like the touch(?) ball
games, and, watch uh ... movies, and listen many ... new ... music, and
have a good time with my classmates and my family.

I like to see the American movies. Chinese movies | also like to watch it.
And, American movie is more ... more interesting.

These childrens are in a very beautiful mountains. They are playing with
each other. I think they are very enjoy themselves, because they have
very beautiful smile. And ... and this is a very beautiful place, very ...
plants and ... look like very quiet. It’s a very comfortables place. And
childrens can play, play in this place because their fathers and mothers ...
can ...

Part 2:  Questions

Q1.
Q2.

I’m doing English test now.
Classic, because it makes me feel relax.
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Q3.
Q4.

Q5.
Q6.
Q7.

Q8.

Q9.

Eight years old.

In the public.

I will keep...l will keep taking a shower, and ....when | finish I will got out.
From 9 pm to 10 pm, because | can see the sports news in...on TV.

The advantage is it’s fast and convenient, but the disadvantage is that it
lack nutrition, and, too much oil.

No, I can’t ge’ angry easily, um the best way is deep breathe for several
times, and maybe you will feel relax, and easy.

Yeah, | went to the cinema to see “The Enemy of the State,” and | feel this
a good movie, and it makes me a lot of fun.

Q10. Western one, because, they pay more money and use more special effects and
computer effects. And the actor -- plays better than the Chinese actors, so | chose
the western.

Part 3:

15l

Part 2:

They are in the woods, but it’s not too many trees. And, they’re playing,
maybe digging, or ... playing the water. Yes, | think they are enjoy
them-- enjoy themselves, because they all have smiles. Mm, | think ...
and ... the girl is standing there with a ... with a dress, and smile happily,
and ... in the, in the back of the picture there’s a man walking there. Mm,
I don’t know whether he is happy or not. Mm ... and | guess it’s summer,
because the leaves are still green ...

Questions

Q1: I’mdoing a language tasting now. It’s about English.

Q2: My favorite kind of music is R-and-B, because I think it’s not too fast and
it’s not too slow. It’s easy for dancing, also good to listen.

Q3: 1don’t remember the exactly time, but I guess it’s mm when I mm
elementary school. About mm 14 years old... oh, no, 10 years old.

Q4: 1always keep quiet in a movie theater, because | think that is very impolite

to make noises. Mm sometimes also in classroom.
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Part 3:

Q5:

Q6:

Q7.

Q8:

Qo:

Q10:

I will... just finish it, I would — as soon as possible to get out of the room,
and looking for some help.

I think the most relaxing time of the day to me is when | taking a shower,
because | don’t have to do anything, but I can — I can think, I can think
about a lot of things.  So I think that is very —relax.  Also I can sing,
too.

I thing the, advantage is, it’s very fast, because it’s fast food. And it’s
easy to order anything you want. But um the disad-advantage | think is it
won’t be very healthy, because, like McDonalds, McDonalds, it always
have some fried, fried food, something like that, it’s not good for our
health. That’s....

Yes, | do get angry very easily. |- 1 have bad tempers. But when I get
angry, 1 will always um, um, I’ll tore papers, make them pieces, and uh, or
I can, | will also sing, sing some sad song, happy song, it will make me
feel better.

Yes, 1 did. Last night I go out with my friend, we go to a dancing,
dancing disco pub. It’s great! The music there is great, the people there
is cool, everything is great. Everything WAS great, it’s last night, sorry.

I think I rather seeing a um Western one, I love Hollywood’s movies,
because um | think especially Taiwanese make the films it’s very strange, |
always can’t understand what are they talking about. But the Hollywood
mo - Hollywood movie is different, | always, um, | think... the story is
great, and the action, actor, actress is cool, and | could also learn some
English.

They are in a, a kind of forest, and they are playing around this — they are
playing with, uh, sand. | think they are enjoying themselve, because they
are laughing.  From their smile I think they pretty happy.... | see alot
of trees, .. and a grown-up man behind them, and uh... mm there grass, |
think there is kind of hill, it’s not really mountain, maybe the hill, and
uh... these children look like um eight years old, bur oh five or six years
old, they look pretty sweet, they’re cute.... Oh, I also can see some trash
around there, I guess this is Taiwan.
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S. B. Grade 11

Q1.Right now I’m taking a test at the Language Training and Testing Center. It’s an
English proficiency test, intermediate level. This is the oral part. I’m getting paid
a thousand NT to do this, and that’s the only reason | am doing this. It’s actually a
pretty easy test, it’s kind of fun — not really —

Q2. 1 don’t really have a favorite kind of music. | like all kinds of music, ‘cause music’s
just cool like that, so pretty much anything I like to listen to. I like it better if it
actually has some musical value to it, and it’s not just like noise or anything like that.

Q3. Well, I guess that depends, see, because if you consider that, that a baby can hear in a
mother’s womb, then | suppose | started to learn English when | was like um just
conceived, because my parents spoke English at home, so | was hearing English from
the very beginning.

Q4. I’ll stay quiet in any place that | absolutely have to. 1’d rather not stay quiet at all,
but if somebody makes me stay quiet, like in a test or something else, then I guess |
will stay quiet.

Q5. I’d probably yell at my roommate Grace, because that would mean that she turned
the lights on — lights off — outside of the bathroom. And then I’d either open the
door and reach around and turn the lights back on, or I’d ask her to turn the lights
back on. It really wouldn’t be that big of a deal. 1‘ve taken a shower in the dark
before.

Q6. During the summer most any time’s relaxing, because | don’t really have a whole lot
to do, but during the school year, um, then the time that | go to bed is probably the
most relaxing, because that’s the only time that I actually can slow down and think
and stop and — | don — like, do nothing. Other than that, | usually have something to
do, like every second of the day. So, right before I go to sleep, when I’m laying in
bed, is probably the most relaxing time for me.

Q7. Well, an advantage to fast food would be that it’s fast, and it’s usually pretty cheap,
too, and most of it tastes good. A disadvantage is that it’s like, most of all it’s really
fattening, ’cause the way they cook it, you know, they fry it, and it’s all in grease and
stuff like that, so... it’s not really good for you. Yeah.

Q8. I don’t really get angry that easily, but it depends on what mood I’'min. Soif | do
get angry really quickly, then one good away to calm down would maybe be to count
to ten really slowly and that would calm me down. Another way would be to take a
pillow and just scream into it.  Or | guess | could beat my head against the wall for a
little bit, and then it would hurt so much that I really wouldn’t feel like being angry
anymore. Oh, the one time I got angry at somebody and | went running, and then |
wasn’t angry anymore, and | was kind of upset, because | felt like being mad at him
but I couldn’t anymore.

Q9. Well, I can’t really think of anything interesting I’ve done at the moment, except that
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earlier today, | was trying to walk from um Bethany here to take this test, and we
were kinda late, so | was trying to keep up with lan, and he walks really really fast, so
I was trying to walk fast, but | had on slippers, and they were kinda loose, and so it
was kinda really hard to walk. And especially fast. And I’m really sweaty and
stuff and so... we finally got here, but that was kinda interesting.

Q10. I guess I’d rather see a western movie, you wanna know why? Because 1’d
understand it. Because if it was in Chinese, | wouldn’t understand it, a word of it.
But since it was in English, then | could understand it, and it’s be more enjoyable for
me to watch. Yeah, I’d rather see a western movie. Although if | felt like sleeping,
I’d rather see a Chinese movie. Then | could just fall asleep, ‘cause it really
wouldn’t hold any interest for me whatsoever, especially since I couldn’t understand
it.

Part 3

Well, I can’t be exactly sure where these children are, ‘cause there’s nothing that
tells me. However, it looks like they’re in Taiwan, partly because they’re Chinese and
partly ‘cause it just looks like Taiwan. Um, they’re having a lot of fun playing in the
dirt I guess — doesn’t look like very fun dirt, ‘cause it looks kinda hard and ’s a bunch of
rocks in it and stuff... but I guess it looks like they’re having fun. At least they’re
pretending to have fun. They’ve got shovels and buckets and stuff, and they’re digging
around, and — whatever, 1 don’t know. Um — they have huge smiles on their face, well at
least the little girl does, the little boy has a small smile on his face, I’m guessing that
they’re having fun... Um, this picture... has two children in it, they look like they’re
about five or six, maybe even four, I’m not really sure. And there’s a man in the
background. And the kids have shovels, and uh, and a hoe, and a rake, and a bucket.
And the little boy’s squatting down, and he’s got slippers on. They’re green. And the
little girl’s standing up, and she’s got red slippers on.  And they’re standing in the dirt,
and and around them are some trees, | think they’re banana trees, and um, off to the right
side of the picture is uh, some kind of plant, growth, with purple flowers coming out of it.
And in the background... is like the side of a mountain, and there’s some terracing going
on, and there’s people like , growing things or something back there. It’s kind of small
and hard to see. There’s a bunch of rocks everywhere on the ground, so it probably
wouldn’t be the most fun place to play. Um... the trees take up most of the picture,
most of the picture is green, there’s foliage (P) everywhere... it really looks like this
picture was posed. | don’t think this is just like any picture, | think they took this on
purpose for this test, because these kids have like new shovels and stuff, new play
equipment, and they look all happy, a little too happy for where they are. | don’t think
I’d have very much fun there if | was a little kid. Hmm...
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